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����	����������l.
8���	���	��������
����������� 3�4 �� θ

����
���

∫

τϑϑπτϑθτϑ+

+ϑϑπϑθϑ=θ
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��� ������	����

���������������������������	��	������"
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	� χ ���(������������������������ θ :

( ) ( )13
2

1 −θ=θχ 567 .               (20)
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�����	��������4*3����������������������$��

�	������� [5-6, 12]
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∂
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������������������������������������[9]

3FGH43,4)343�4 ���" 2
1002 1 λ−ϑψ−+ϑψ≈ϑ ,  (26)
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��������������� ��!�a"���#������������"�$$�%& – 
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�*�����+

����������������*������������
�*�����+�� ,%,��',�PACS: 71.35.Gg, 73.20.Mf.
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* �V(�	���. W ��-������& & ��-�	(��
��V @ ��%�	������X > ��0�����% % �8��������������������������#����	����"

����������
���������	���
����
�������������	���??�!��������Y/&C �*RQ+ �'�& �+P �'�%�� �B �'�T �RQ�*P* 

E �-�	(��
��V @ �>������	�����������(�����������	�����"�����������
���	�����	�"� ??�2���"����� ����� � *RQ+ � �

& *JP �'�Z+ �'T �IIB�JPP 

B �8����	���C T �T��
�
���������������������	���
����"��������"�����������������������������
������� �>�#��

�����������������??�!��������Y/&C �*RRP �'�& �IE �'�%�� �I �'�T �QR+�QRQ 

+ �8����	���C T ��;�����8 % ��M�
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